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MATHEMATICS

Time: 2 hours. *
IN STRUC’I}ONS TO CANDIDATES (Please read these instructions carefally).

1. You have been given this question booklet and a separate answer sheet. The question booklet contains 50 questions.
2. Do any necessary rough work in this booklet.

3. When you have chosen your answer, mark it on the ANSWER SHEET, not in the question booklet.
HOW TO USE THE ANSWER SHEET.

4.  Use an ordinary pencil.

5. Make sure that you have written on the answer sheet:
YOUR INDEX NUMBER
YOUR NAME
NAME OF YOUR SCHOOL

6. By drawing a dark line inside the correct numbered boxes, mark your full Index Numﬁer (i.e. School Code Number

and the three-figure Candidate’s Nurnber) in the grid near the top of the answer sheet.

A

7. Do not make any marks outside the boxes.
Keep your answer sheet as clean as possible and do not fold it.

9.  For each of the questions 1-50, four an»sﬁrsers are given. The answers are lettered A/B,C,D.In each case,
only ONE of the four answers is correct. Choose the correct answer.

10. On the answer sheet, show the ;:orrléct‘fanswer by drawing a dark line inside the b(?x in which the letter you have
chosen is written.

Example: ;
In the Question Booklet: ‘ 4 s

- 3,3(1,1
31. What is the value of §TZ(2+4)?
2

A2—-
3

B. 27
128

C.2
3

D. 3
8

The correct answer is D.

On the Answer sheet:
[f¥iA1 181 1CI ID] il s 1c1 o1 A 181 1C1 1A Bl ®1 cl o

In the set of boxes number 31, the box with letter D printed in it is marked.
n

11. Your dark line MUST BE within the box.
12 For each question, ON LY ONE box is to be marked in each set of four boxes.

This question paper consists of 8 printed pages.,
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1. Write 3428901.01 in words > What is the value of %—:l— 0f§ +(§- . ?))?
A. Three hundred and forty two thousand ]
eight thousand nine hundred and one AL
and one hundredths. 27
B. Three million four hundred and twenty B.1 .
eight thousand nine hundred and one 8
point zero one. ' c.b
C. Three million four hundred and twenty 7
eight thousand nine hundred and one D. 14
and one hundredths. 27
D. Three million four hundred and twenty
eight thousand nine hundred and one 6. A school has two streams from Grade 1 to
and one tenths. std 8. There are 30 pupils in each class. At
the beginning of first term, the pupils were
. 2: What is the place value of digit 2 in the given exercise books as follows:
product 0f 2.36 and 1.7? Grade I - 3 .... 10books per pupil
A. 0.002 ' ‘Grade 4 -6 .... 13books per pupil
B. Thousandths Std. 7 - 8... 8 books per pupil
C. Thousands What was the total number of exercise
s books given?
31 What is the value of: 13+4’ +32-28+7x2? 2222
: 343 ¥ B. 248
e e C. 5100
B. 30 D. 6100
](; §6 7.  Whatis the value of 22051‘54 x50_ (;_',5:93'5?
4. The following are prime factors of three A.0.25
numbers : b Bl
(i) 2'x3 ; c; C. 0.025
(ii) 3 x 2 . D. 250
(iii) 4’ x 3 o I 206
What is the highest common divisors of the 8. Inafarm — of the poultry Y duck, 5 are
thres numbers? turkey and the rest are chicken. If the number
AL of chicken is 240, how many more turkey
B.12 than ducks are there?
C.3 A. 60
D. 432 B.300
C. 360
D. 660
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10.

11.

12.

13.

After a 40% decrease in amount of water in
a container, 1200litres of water remained.
What is the capacity of the container when
half full?

A.3000L

B. 1500L

C. 600L

D. 2400L

What is the next number in the pattern
1,3,5,9,15,«~ % :
A.21

B.24

C.25

D.23

What s the value of  [3.6. x(g)z?
25 \3).

A1l
5

Amina was born on 29th February year
2000. For how many times has she marked
her birthday by now?

A5

B. 22

C.ll

D.6

There were 60 people in a meeting. 0.15
were men, 0.35 were women and the rest

were youths. How many youths were erc?

A.21
B.'9

C. 30
D. 39

14.

ol bF

Which of the following sets of measurements
will form a right angled triangle?
A. 8cm, 15cm, 19cm

B. 3cm, 4cm, 7cm

C. 6¢cm, 8cm, 12cm

D. 5cm, 12cm, 13cm

B

A cylindrical container has a diameter of

14cm and a height of 10cm. What is the
area of a paper used to wrap it on the
curved surface?

- A.154cm’

B. 440cm’

C. 594cm’

~ D.748cm’

16.

17.

A rectangle has a perimeter of 46m. The
length is 15m.

4
P=46m

o

15m

What is the width?
A.30m

B. 16m

C.8m

- D.3m

The base of an isosceles triangle is 24cm.
The two equal sides are 13cm

13cm

24cm

What is the area of the triangle?
A. 30cm’

B. 60cm’

C. 156cm’

D. 15cm’
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18. In the figure below the diameter of the

semicircle is 14cm

20cm

the following day at 8.30am?
A. 828am

B.832am

C. 8.30am

D. 9.50am

The distance from Kiptech town and Rioth
town is 240km. A motorist travelled from
Kiptech to Rioth and took 4hours. In the
return journey he increased the speed by
20km/h. How long did the whole journey
take?

A. 8hours

C. Thours |
D. Shours.

MEDIT AAT

‘A watch loses 5 seconds everyhourltwas o b
set correct on Monday at 8.30am: What - - i
time was the clock showing on Tuesday . : ]

The figul‘e belOow 1S I11aus up vi a yuallgr

circle and a semicircle

21.

14cm

What is the area of the shaded part?
.. Al 77cm’ e
B 154ém

C. 382 cm’

s~ of 4 C per minute. What was its temperature

below boﬂno point?
A95°C : , Gt
B.5C
C.80°C
D. 65°C
23. The area of a square plot is 2.25 hectares.
The owner of the plot wanted to fence all
: _,,wnﬁzﬂbe plot placing posts at a regular
~ interval of 5Sm. How -many posts were

required?

A. 600

B. 150

C. 120 /

D. 12 b ‘
24.  Arectangular container 4.5m long 2.0m
wide and 0.5m high is full of water. What
is its capacity in litres?
A. 4500L
B.45L
C.4.5L

D. 450L
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25.

26.

27.

In the figure below, line IH is parallel
to line FG. Line EH = line IH and angle
EFG = 68".

E

7 G |

What is the size of angle FGH?
A. 44

B. 68°

C.112° e

- D. 136°

The following arc properties, of quadnlau.rals
(i) All sides are equal o
(ii) Some angles are acute, wlule others are-

obtuse o

(iii) Dlagonals bisect each o![:ér bt right
~ 5 \j v”. 7

=

angles
(iv) AII angles are 90’ ;
Which two properties are not true about

both square and rhombus?
A.j, il
B. ii, iv

Construct a triangle WXY such that
WX = 8cm, XY = 6cm and angle
WXY = 130°. What is the length

of line WY? |

A.62cm

B. 12.7cm

C.13.lcm

D.7.1cm

28.

29.

30.

31.

Line RS is parallel to line TU. Line WX _

and WY are transversals that meet at

X

Which of the statements below is not true?
A.a+h+n=180° = _ e

i+ p =180°
C.b=h
D. e= f

What is the dlﬁ?reTCEbetwewmesum of
faces, vertices and the edges of a packet
with a rectangular cross-section?

A. 14

B.2.

C.12

D. 4

‘The figure below is drawn accurately’

I)

R Q

What is the size of the supplement of angle
PQR?

A. 145°

B. 35’

C.135°

D. 45"

Mary bought x mangoes and Tom three
times as many mangoes. Oloo bought
10 less mangoes than Tom. How many
mangoes did they buy altogether?
A.4x-10

B.7x- 10

C.7x+10

D.5x-10
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32. Whatis the value of p in 2(p - %) =11

A5

1
B.4§

C.6

D.3

e

o,

—N\‘"': — .
33. What is twice the value of x in?

(2x-1)ecm

3(x+1)cm

A. 11
B.6

C.21
D. 12

34. What is 2(3t+2q)+2t+4q

. 12t +8q
simplest form?

expressed in

A. 2t +2q

3t+2q
B, Sttéq
12t +8q

C 2t+q

3t+q

D. t+2q
3t+q

35. Giventhata=6,b=%aandc=b+2,

28 +—(a%0)
what is the value of —21—?
2

A. 17
B. 34

|
C. 85
D. 12

RS TmEr AnA

4
5

l)

36.

38.

39.

The cash price of a radio is 20000. The hire

0%
purchase price of the same radio 1S 1024, ..

han the cash price. Njoroge bought

more t .
e paid a

the radio on hire purchase term. H
deposit and the rest in 7 equal monthly
instalments each two thousand shillings.
How much deposit did he pay?

A. sh. 22000

B. sh:-14000

C. sh. 4000

D. sh. 8000

* A trader sold an item for sh. 4800 making a

loss of 20%: How much would the trader

-sold it to make a profit of 10%?

A.sh. 1800
B.sh. 6000

C. sh. 6600

D. sh. 600

Grace bought a dress after she was allowed

~~ adiscount of sh. 300. if she paid sh. 1200

for the dress, what was the discount allowed
as percentage?

A.20%

B. 25%

C.30%

D. 15%

Mama Cir)u bought the foﬂowing items
from a supermarket;

2packets of unga @ sh. 140

412 litres of milk @ sh. 60 per litre

Zklg of rice for sh. 270

1 N litres of cooking oil at sh. 320 per litre
She paid for the items using 2 one thousand

shillings notes. How much balance did she
receive?

A. sh. 1300
B. sh. 700
C.sh. 1570
D. sh. 430
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44. The figure below representar ectangulZf

40. A sales agent is paid a basic salary of
sh. 20000. He is also paid a commission of picce of land drawn on a map using the
5% on goods sold above sh. 40000. What scale 1:1000.
was his total earning in a month he sold
goods worth sh. 2000007 2cm
A. sh..30000 -
B. sh. 32500 hern
C. sh. 28000 -
D. sh. 12000
41. Patience deposited sh. 60000 in a bank that i\:\/arx:; thefEtealrea of e plgce pe
paid a simple interest at a rate of 8% per A. 200
month. How n}uch moncy wa)‘_h/ B. 20
’\account after 5 year? —" C.02 [
A. sh. 28800 D.2 .
B. sh. 62400
C. sh. 2400 45. Six men working at the same rate can
D. sh. 88800 complete a piece of work in 18 days. How
; many less days can the work take if the
42.  The table below shows part of mobile phone " work is done by 9 men?
money transfer tariff for regi§tered and A.‘ 6
unregistered service users. 27 - B.24 A
Transfer range| Transfer to| Transfr }to’ . C.12
registered | unregisfered D16
user user {
ggg:{jfggoo Zz ;g? 46. T.he pie chart bel?w. sho“is numbers of
different types of wild animals seen by
10001-15000 95 260 tourist in a certain national park.
15001-20000 100 282 '
Samuel is a registcfcd scrvice user. He
transferred sh. 9600 to a registered service
user and sh. 15600 to unregistered service
user. How much less would he have spent
if both service users were registered?
A. sh. 367
B. sh. 182
C. sh. 185
D.50.228 If they saw 84 elephants, how many more
43. What is 2:5 converted as percentage? ?5:1[4;;1302[) o2 fhian zcbres did they sec?
A. 40% B. 24
B. 60% “ C.108
C.04 D.72
D. %% MATHEMATICS STD. 8
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: ; below shows a paticm Ol sha
47. Ten pupils obtained a mean of 6.5 mark.s ina 49. Thé figure p pes
" mathematics test marked out of ten. Nine of e xx- %%
these pupils scored: 5,6, 7,8, 7, 5,6, 8 and T4 IR P % 0,
7. What was the score of the tenth pupil? -x xx- ;S( 3 .
A6 R X bX XN €7
5B 7
C.5
D - o What is the next shape?
48. The table below shows the distance in A B.
i from Ali’s home to school, X X ' x:-'= !
—— police station, health centre and market EXL :':-':.:.. XX .:::..:.::.
Home AR 5
4 [3 | Police station ‘://“‘ i < 27l X X
6 |5 | 4| Health centre™™ , i
716 |53 |Market "
Ali travelled from home to health centre via C. D.
g _school and then went home directly. What ' - et
distance did he cover? ENX I :-.':9 Xx
A. Tkm R X Kers
B. 6km ) x;x | 2%
C. 14km AAHBNE
D. 13km |

50. The graph below shows a motorist journey from home to tm;‘vn

210 e a gy
= 5 o A 1 /1 j
5 e I By A
225 - [—]--1- —!~ T | IR { | 'I' )
HSSCEEREAREESEEEEssSusEEM/SEE]
E; 180 _ﬁ,“;[';'_";' S e e
= == === T = IS R A e e b L
i 135 —r——r—ﬂ'—i—-i-—'—" ~+ —1— + — 7/'— =
© S o e e =
A EESEES SEaEN//SSE S e R
4 _tr.:'. S i £ :
5 T =+
===
[l BB
8am ga}-}\
P i
TIME
What was his average speed for the whole journey in m/s? . ‘
A. 90m/s : s
B. 25m/s $
C.72m’ o
D. 20m/s :
ME - IT-003 !
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